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3. 28 % 5,500 0 5,500
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(BHANF) AN ZET AR
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(oaﬁ_l—r)_gl—r HNZET} 73A 150,000
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2. 152G 2,900 0 2,900 | (A HH_15)3EAH] © 2,000 65 = 130,000
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AEA asgs 253,492 65,178| 188,314
1. %353 &9 82,754 19,780 62,974
158 ueqd 47,420 240 47,180
1.EQAY299 1,960 0 1,960
1.+959 1,960 0 1,960 (X4 HA_15) 7 S ¢ 35,0009 %284 3= 980,000
(FHA_1F)AAE ¢ 35,0000 #284] 7= 980,000
2. 358t u - H] (B.%) 12,000 0 12,000
1.9 10,000 0 10,000 | (4 BA_15) A= 35,0009 %284 4] 7F= 9,940,000
(AHFA_13)0%EH] : 10,000 +63]= 60,000
2. 55§ 2,000 ol 2,000 S‘i%ﬁ—@mﬁﬂ] + 250,00091 #83] <1+ 2,000,000
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Z3AHE] : 35,0009 #2004 7F= 7,000,000
(BEA_1F) %Y : 10,0009174L= 1,740,000
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(BHEA_1F)=F 741 1 90,0009%10F= 900,000
LA A A 100 0 100 i:f) 312;1%)%41%&@% 10,0004 100,000
4.8 RT SN (F9) 5,920 0 5,920
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AR | G | A ARG A7HE AW & e == S
2. Ew e 35,334 19,540 15,794
1. 550439 33,534 0 33,534
/HE]% Z=)7FAH . °J Al 7F
1.&d5g 20,470 0 20,470 ‘;"_HLIT) AL+ 35,00091+1824] 23 19,110,000
9=
(AEA_13)0EH] 10,0009 %53 %29 = 1,060,000
A2 = 2=t} o b
(; JHA_13:)R45Y 15,000 #4A] ZF+5 300,000
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3. -] 12,734 0 12,734 iz"ﬂ‘i B1EAZTHE © 500,0008+24 2,000,000
(A EA_1F) A (F) ¢ 2,0009+44
’ 10,384,000
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Wk A1) 1 10,00091 %359 = 350,000
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1. 05390 0 8,800 -8,800|7FA1H] (=) : 091-8,800,0009)= -8,800,000
3. EH A TAN (5) 0 10,500  -10,500
1. 05 H| 0 10,500,  -10,500 |52 H](52) : 094-10,500,0009= -10,500,000
4. A 1A H] 1,800 240 1,560
ARA_1F)ERAEAL oA A (&) -
1.7 7k A 22 2p el A ] 1,800 aa0| 1,560 B HALFIES AL AR ) 1,200,000
(15,0009 44 71) %202 =
(AHA1F)EEHATA gAJIAN (&) ¢ 360,000
15,0009 4] 7Fx6 Y=
2.518%F 11,120 6,700 4,420
1.548529 11,120 6,700 4,420
1. =479 2,400 2,400 0
1. 105990 200 200 0
2. = A 9] 2,200 2,200 0
2. 24889 1,890 1,000 890
EAHed 2 BEE 1Y U223
1. 0529 H| 1,690 800 890~ 1 ¢ EFE T 445,00091+2) 890,000
2. 8] F T4 200 200 0
3. 4 m A Y 3,300 3,300 0
1. 052G H| 3,300 3,300 0
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S ojzany
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TR F718] whel )
A
F4l A4 | A4 | Wz .
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(BYA_13)¥938 : (14,0009+10,000
)20 224 7237 Bhl= 268,000
(A HEA_13) %4 © 50,0009 %23]= 100,000
A Z)O o EX o] o
Z.E%%%H] 62 0 62 (;o_}:l;ﬂ_l‘r)\_ 3= T :[LH 62,000‘d*1 62.000
5.8 A FolE(F) 720 0 720
AAHANF)EHERE TAFY 13,000
[SAR=] R H ,
1.5k 624 0 624 014811 6.5] - 624,000
2. B5AAIG G F-F%11] 96 0 96 (B HEA_15:)E3H] : 6,000 878 #23]= 96,000
6. AHAl 53 St A7) Sk A 2 FB0%) 0 1,500
1. 0 5-g-gH| 1,500 0 1,500 | (A HA_153) A FUH] © 12,0009 %108= 120,000
gﬁi%‘ﬁ_ﬁ)%%%% T4 100,000 %2 200,000
(A HEA_15)244] : 3,0009 #3078 #23]= 180,000
(HEA_13)FZE308] @ 50,0009 %20 = 1,000,000
7.5A3 SRR AAFAAE EFH](F) 110 0 110
(AHA_1F) AL A 251 ¢ 10,000
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1.99H] 110 0 110 <o 45000 1,000,000
AL BAAL WEH] (10,0009 11
’ -890,000
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3. 3784 159,518 38,698 120,820
1.07]8&< 159,518 38,698 120,820
1. 8752 9,475 5,975 3,500
1. 7)1 A 2 Al A n] 4,575 4,575 0
A AA 1Z2)EH %] =% vl (&)
2.1 4,200 900 3,300 (Boa_15)E o 152k oful () 2,000,000
200,000 1 103]=
AEx 132)E2 2] Bl (&)
(AHEA_15:)¥ o_—rxl 2} gn) (&) 1,300,000
20,0009 *19 %653] =
Al Z=) QB 2] g By (=)
3 JT_ZJ,%E,‘X]H] 200 0 200 (o Hﬁ_lT)L OTZ] X]— '4—1 ]("l) 200’000
200,000 1=
4,059y 500 500 0
2. 9A~EFE A 28,223 32,723 -4,500
AT H — [e) oJ m =
1L295e 24,300)  28,800|  -4,500| ° Fl o =(35,00099+10,00041) 1078+ 105 ~4,500,000
2. 4719 1,615 0 1,615/ 47185 : 161,5009%109= 1,615,000
2RETY ] #5F#23] )
3. 58 2,105 3,720 -1,615 FTH ¢ (18,500853+28])-200,000 -15,000
o)==
Haggaalzl 1 0€9-600,0009= -600,000
o3 @71 0 09-400,0009 = -400,000

1

vhgA 20239 079 219 09A] 234 48%

15




20238 A% M| = of| 4FHE Al A
o 2k 3 53 )
A AR H) 2 e e
4 A7 A = kel s SR
GEgeH  09-600,000¢= -600,000
4. 71 AZ2ZAH AT 203 0
A=A} 46,420 46,420
171 A 2221 H] 41,221 41,221 (B FA_1F) 7185 1 2,000,0009 6= 12,000,000
(AHFA_1F)71E5 ¢ 2,210,000 +6¥= 13,260,000
(BHEA_NF)ZE7T ¢ 410,000 =6 = 2,460,000
(BEA_NF)TEFT ¢ 410,0009%64= 2,460,000
(BEA_1F)7HE3 ¢ 20,0009 +69= 120,000
(BEA_1F)7FET ¢ 20,0009 #69= 120,000
;i%‘&l%)*éﬂ%ﬂ% © 450,000 13k 450,000
(BEA_1F)A 7175 1 600,0009+178= 600,000
(B HEA_1F)F21] 1 140,000 69 = 840,000
(B EA_1F)H21] 1 140,000 #69= 840,000
(B HEA_1F)EEF7I] ¢ 850,00090#23]= 1,700,000
(BEA_1F) AT ¢ 1,931,00099%178= 1,931,000
(BHEH1F)EAF ¢ 4,440,000 1= 4,440,000
2. FFEAM 650 650 if; HALF)BEEFHAN] : 100,00041+1 100,000
(_E%ﬁ_lﬂ%)‘%%‘é%xw] © 550,000 %1 550,000
3. 7)1 A R AR G R 4,549 4,549 (B HA_15) 7132 328,166 +6Y= 1,969,000
(B HEA_1F) 71355 1 430,0009+69= 2,580,000
A~ Ewh--gH (5) 5,000 5,000
1.e959 4,050 4,050 ;ifﬁﬁj;ﬁggluggigfg ;Su‘g*m 4,050,000
2. W5$qH| 700 700 | (A HA_153)7H4] 12,0009 %7078 #33]= 420,000
(ﬂ*{i%%ﬂ_lﬁ)iE%wﬁ-% © 20,0009 %72 280,000
3. EAALG A5 250 250 (B HHA_153)F 2] 3]n] @ 25,0009 %107 = 250,000
Ax=Eetdn(F9) 5,990 5,990
1.&9+9 5,990 5,990 | ZFAH] 1 35,0009 %10 %174 7t= 5,950,000
WEH] ¢ 10,0009 #4™ x1Y= 40,000

1

vhgA 20239 079 219 09A] 234 48%




202381

T
1

of| Ak F7413] e )
gat A4 | 14 | W=z oo
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6. WA EGTF(LHFFEZE) 25,110 0 25,110
(AHA_13)7321] ¢ (35,0008 107 #24]
1.+959% 25,110 0 25,110 v ’ ) 25,110,000
ere 7H313])+(55,0009)#198 #24] 7H313] )=
7.8 A~ E g (A EHEH %) 15,000 0 15,000
(A HH_15)7A] (35,0009 #2A]
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3T ZF203])+(55,000 9 #17 #2A] 7H+203] )=
(BYA_13F)WEH] © 10,0009 18 %203]= 200,000
8. FAFFTHFH (&) 2,500 0 2,500
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1. 5529 2,500 0 2,500 E" HALF) ] 25,0009110%3+10] 2,500,000
9. %53 F 590 (&) 8,500 0 8,500
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n-S-L-odn
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A3 1= TAXS FHEn 2
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APGA_1F)HEASF 5 2
iSia_‘A_lvr)EHVL T ] 100,000¥ 300,000
1=
(AAHA_153)A528] A=2dASdis 3t 1,500,000
7] @ 500,000 +37 =
11. 3H A 7 sk = v] () 8,000 0 8,000
(AFBA_13) 4538 AFAdASNE o9 347
We-9odn
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(AFH 1P uFAE SAEF 74
QlHLZ=8
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1A S G IR = 18,950 1,730 17,220
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2.9 1,730 1,730 0
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3. A4 WS (=) 9,000 0 9,000
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18] = —1) & A A & &< x)2kn
(A lﬂx‘j._lT)_(6 ndA oxﬂtf—:-a—]'a 2} ] 400,000
400,000 13]=
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10,0009 x14%13]=
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3. 85494 oo 19,620 9,640 9,930
1.3 R348 19,620 9,640 9,980
1.8 A R34 Y 9,640 9,640 0
THELEAZIEH A <
1.0k g v 9,640 9,640 0, IREAPIEL 2A] 2 420,000 +67 2,520,000
2=
TAAP A4 09-2,520,0009= -2,520,000
kg4 2023 072 219 09A] 238 48% 19 AeEEusy Agtzssta



20238 A= A= of| AT A A]
of AR F713] (ch9l 1)
A I E =
NE71 ()
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2.1 8,730 0 8,730 igi@—@)%@ AP TS+ 1,746,0004) 8,730,000
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(A EH_15F) A 1 55,0009 28} 2= 110,000
(AAFH_13)EE : 100,000 #25= 200,000
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(EH_15)8 e 7] ¢ 2,000,000 +1d]= 2,000,000
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1.8tu713% &9 34,146 34,146 0
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1A 5200 5,200 5,200 0
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